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General Knowledge and Mental Ability
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Question Number : 1 Question Id : 398282975 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Manikaran in Hunachal Pradesh 1s known for:
(1) Solar Energy

(2) Geothermal Energy

(3) Bioenergy

(4) Wind Energy

PATDS DATES D AEIS0 A3 DV Tobod:

(1) o 33
(2) Brey 33
(3) Bazd

(4) Daded 38

Options :
1. ¥
2.9¥2
3.%3
4. % 4

Question Number : 2 Question Id : 398282976 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

https://g21.digialm.com/CAE/viewHtm|PDFAction.action

X

‘{ GETMYUNI

2/72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmlPDFAction.action
Which one of the following is not covered under GST in India?
(1) Cosmetics
(2) Medical Grade Oxygen
(3) Jewellery
(4) Petrol

30H TreS” B roadoes” GST HBHS S T°H?
(1) 5", E5,

(2) DCES GE 93y

(3) g0

(4) e3¢5

Options :
1%
2. %2
3. %3
494

Question Number : 3 Question Id : 398282977 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Which one of the following methods 1s followed 1n electing the President of India?
(1) Proportional Representation only

(2) First-Past-the-Post System only

(3) Proportional Representation and Single Transferable Vote System

(4) Proportional Representation and First-Past-the-Post System

208 T°QOGD I0) EDcods” 208 e DB ©900B030B008?
(1) mravra Fradcio ardad

(2) DD-DD-O-TH DH Aresad

LA [o+] ey (4]

(3) Trarar PadGie b0 w8 wbd Le DO

(4) oraorar Jradcie adoin HYP-arR-G-T'Y dYa

Options :
1 %7

2.%2

3.3
4. %4

Question Number : 4 Question Id : 398282978 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following pairs of vaceine and category/ type:
a) Covaxin: Inactivated pathogen-based vaccine.

b) Covishield: mRNA Vaccine.

¢) Sputnik V: Viral vector- based vaccine.

(1) *a’ only.

(2) ‘a’ and *b” only.
(3) ‘a’ and ‘c’ only.
(4). ‘a’, *b’, and ‘¢’.

308 2¢ 85 B HPo/65°)) VB8TVyol:

D) Eor3\D: 300r6ared TjQ5°08 Srrdd J°34yD.
D) E K}Eleg : mRNA o°§8y0.

c) un).):)@lg V: poes Dgﬁ—f_‘iﬂ"ﬁ@ D‘éé:}f).

(1) 'a' argsay.
(2) 'a’ S0BaIL b’ Srgsd.
(3) 'a" 0B '¢' g,
(4) 'a". 'b' a8t ‘¢

Options :

1. %1

2. %2

3.¥3

4. %4

Question Number : 5 Question Id : 398282979 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

temale-looking spacefaring humanoid robot being developed by the Indian Space
Research Organisation to function on-board the Gaganvaan.

(1} Vikramasena

(2} Chandrayan

(3) Aryabhatta

(4) Vyommitra

(5D €5° HIBVOL 20 0e0E DOFET VoY T°LO° Y™ EID0D
90305 0IPG AFIDOFD TS DG Sovecod.
(1) DEDDD

(2) DoGoIrD

(3) 30525

(4) SgDope

GETMYUNI
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Options :
1%
2.%2
3. %3
494

Question Number : 6 Question Id : 398282980 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

National Disaster Management Authority 1s headed by
(1} The Prime Minister

(2) The Home Minister

(3) The President

(4) The Health Minister

&rEoD DDA DOGETE 0SS D0 .
(1) Do o

(2) iFo avosy

(3) T

(4) es8ci5 0o

Options :

1. ¥

2.%2

3. %3

4 %4

Question Number : 7 Question Id : 398282981 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O
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Who founded the Central Hindu School at Banaras which was later developed into Banaras Hindu
University?
(1) Annie Besant
(2) Madan Mohan Malaviya
(3) Chandra Vidyasagar
(4) Gandhijt

BT LT0D 0GP DFLDCF(OIOTOTT DD SaLLED BITP0ES D) 0oL a0 o7, S
DM FDOT D ?

(1) 02y B0t

(2) OGO AP AIVHS
(3) Dog Da§Irid

(4) Pl

Options :
1. ¥
2.%2
3.%3

4. %4

Question Number : 8 Question Id : 398282982 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

Who among the following founded the Marathi Newspaper ‘Kesari’?
(1) Lok Manaya Tilak
2) Vallabhbhai Patel
(3) Lala Lajpat Rai
(4) Vinayak Damodar Savarkar

308 86" T0 TTOAS 'SV IDW Fromrd?
(1) 8205 B0

(2) ajgef: 2oy Deded

(3) orer LaDd orad

(4) Drons mrarad Fo0)6

Options :
1LY
2.%2
3.%3
4. %4

Question Number : 9 Question Id : 398282983 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

R4 GETMYYNI
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Advaita Philosophy was propounded by
(1) Ramanujacharya

(2) Madhvacharya
(3) Adi Shankaracharya
(4) Yamunacharya

BB BBIT°N0 (0" RSB0,
(1) T cuerordy
(2) mwﬁaﬂ{:ﬁé
(3) BOI05T D0
(4) oddDTTO]
Options :
1%
2.%2
3.¥3
4. %4

Question Number : 10 Question Id : 398282984 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

International Gender equality prize is given by which country?
(1) United States of America

(2) Finland

(3) South Africa

(4) India

908001 Hofi DATHBY LTVHD < B30 e206& 0007
(1) cB0PBE 26y D 9003

(2) Dok

(3) cimrase

(4) eroesdFo

Options :

1. %1

2.¥2

3. %3

4. %4

Question Number : 11 Question Id : 398282985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 v
)‘4 GETMYUNI
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Correct Marks : 1 Wrong Marks : 0
National Rural Employment Guarantee Act (NREGA) was first passed by which of the following
coalition governments?
(1) The National Front- 1989 to 1990
(2) National Democratic Alliance, 1999 to 2004
(3) United Progressive Alliance- I. 2004 to 2009
(4) United Progressive Alliance- I, 2009 to 2014

oD A &P 2 deyo (NREGA)D 308 D Ro3¢ Debeige o) esardodod?
(1) DS Hot5- 1989 ood 1990

(2) DS TDEEHS LD, 1999 Aved 2004

(3) cPHE FToD 0Dy~ 1. 2004 ool 2009

(4) cA0DOE FT0D waDy- IL 2009 ol 2014

Options :
1 %7
2.%2
3.¥3
4. % 4

Question Number : 12 Question Id : 398282986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O
Which tennis player has won more number of grand slam tournaments?
(1) Roger Federer
(2) Raphael Nadal
(3) Novak Djokovic
(4) Boris Becker

D B D BT BIAE ol JPaD €5°0) Do ALDBILDHT™) 2
(1) Bab aob
(2) v oresed
(3) S8 HEDS
(4) e5°80 546
Options :
1. %1
2.%2
3.¥3
4. %4

Question Number : 13 Question Id : 398282987 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 W GETMY é;jnN I
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Correct Marks : 1 Wrong Marks : 0
Who was the first woman to travel into space?
(1) Tamara Press
(2) Sally Ride
(3) Naidia Comenei
(4) Valentina Tereshkova

£90¢30.£065°S DOIEIoN)D DG APV JDWD?
(1) Sa00° 2O

(2) ¥® B&

(3) REOT® F0y

(4) oTotd @B o

Options :
1. %7
2.%2
3.%3
4.4

Question Number : 14 Question Id : 398282988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

BrahMos, supersonic cruise missile. is the outcome of a joint collaboration between
(1) India and Russia

(2) India and America

(3) India and France

(4) India and Romania

00 @D WrDEIS Srond L. ®© DE§ GAE VIPSTCo 3G HDOSo.
(1) eroedso andoy Gary
(2) eroesdzo S0B0IL e
(3) ercaddo B0 Jroy
(4) ercesdso andoiv Fandoir
Options :
1LY
2. %2
3.%3
4 %4

Question Number : 15 Question Id : 398282989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 bz‘ G E T M Y U N I

https://g21.digialm.com/CAE/viewHtm|PDFAction.action 9/72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

Who 1s the present Governor of Reserve Bank of India?
(1) AntDoval

(2) Shaktikanta Das

(3) Smt. Dakshita Das

(4) NK Singh

0236 3°505 €52 QOL.OW® YAV (130) 6 JadW?
(1) eo2d &6
(2) 3557088 "R
(3) Yo G oD
(4) 22 & Doh
Options :
1%
2.9¥2
3.%3
4. % 4
Question Number : 16 Question Id : 398282990 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

If the ‘cook’ 15 called ‘butler’. ‘butler’ is called ‘manager’, ‘manager’ is called ‘teacher’, ‘teacher’
15 called ‘elerk’. and ‘clerk’ is called ‘principal’. who will teach in the class?

(1) Cook

(2) Butler

(3) Manager

(4) Clerk

‘Dot 2T’ D 'Bed 02, 06D Db @), D26 'Bab' ), 'Bad'd £6), ©2, '66),'D
RN 02 DI, AOCD S JDW DI ?
(1) %5
(2) €6
(3) cnd2b
(4) £6),
Options :
1 %1
2.%2

3. %3
4.4

Question Number : 17 Question Id : 398282991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

N/
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The radius of a right circular cone 1s increased by 50%, than its volume increases by .
(1) 125%

(2) 100%

(3) 237.5%

4) 75%

Sa D)TPE°0 050 V) m@ﬁ“go 50% 20K o7 ADBATR | DOXDLEOS.
(1) 125%
(2) 100%
(3) 237.5%
(4) 75%
Options :
1. Y1
2.%2
3.%3
4. %4

Question Number : 18 Question Id : 398282992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A group of eight members sitting in a circle. ‘D’ 1s between ‘A’ and *F” and 1s opposite to ‘G’. ‘E’

is to the right of *A’ but not on the left of "*C’. whose right hand neighbour 1s *G’. ‘B’ enjoys having
‘H’ to his left. Find the member who is diagonally opposite to “A” —

(1) B

(2) G

(3) H

(4) F

DA 0d DELY £y060 W8 DyBoes” EPM\D &o08. D' DS 'A’ andoin F' angy eol
a0dain 'G'S Jcodorre Er0NT) . . 'E' e 58 'A'S S0EDD) &) (D 520 'C'8 P
5°C0. BT 0D A HAE Py Toorbd aF 'GL B’ ad deaopay H'D $9A okt
3908, 'A'S DEGorr T &) DEED S0fFdod.
(1)B
(2)G
(3)H
(4)F

Options :

1 %7

2. %2

3.93

4. %4
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Question Number : 19 Question Id : 398282993 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0
Find the odd one out

(1) Snake

(2) Turtle

(3) Crocodile

(4) Whale

BErmr &0) 00D (Do
(1) a0
(2) eriSen
(3) 2008
(4) Snoiien
Options :
1. %1
2.%2
3.%3
4.4

Question Number : 20 Question Id : 398282994 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many meaningful English words can be formed by using 224, 4%, 7% and 9® letter of the word
*WONDERFUL’? Use each letter only once. but in different sequence.

(1) One

(2) Two

(3) Three

(4) Four

“WONDERFUL’ &9 0¢5085° 2. 42, 7 a0B030 9 09£0°0:0. 8 0£0°)) 28 F°8 argdd
&D0IHoD) D) YD o DI APTobowdeiy?

(1) 2s8ed

(2) Boc

(3) Qe

(4) ~eeniid

Options :
1 %1

2. %2 N/
)‘4 GETMYUNI
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3%
4.9¥3
4
Question Number : 21 Question Id : 398282995 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

What will be the next term in the series
BKS. DIT. FIU. HHV,

(1) X

2) JGW

(3) IGU

@) IGX

BKS, DIT. FIU. HHV. 65" BN DGo DawEd.

(1) 11X
(2) IGW
(3) JIGU
(4) IGX
Options :
1. %
2.9¥2
3.%3
4. % 4

Question Number : 22 Question Id : 398282996 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

Solve the equation: 18B12P4ME8Q6
If ‘P’ denotes + ‘Q’ denotes +
‘M’ denotes — ‘B’ denotes x

(1) 17
(2) 46
(3) 52
(4) 108

18B12PAMEQ6 e9d ‘”raghédfa"i};" ?.I)E!:J‘?I&m.’)oti.
P+, QP+
M - 2. B xd ardawod

(1) 17
(2) 46
3) 52
(4) 108

Options: ):4 GETMYUNI
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1 %7
2.%2
3.9¥3
4. % 4

Question Number : 23 Question Id : 398282997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Twenty-five children are standing in a row. “R™ is in 16" place from the right end and “B™ is in
18" place from left end. How many children are there between “R” and “B™?

(1) 2
(2) 4
(3) 5
4) 7

0D DA 08 DYV DA DOBE &I M. "R" HAE DD6 ol 162 Fdoes” ndain "B
D DHG Mo 18 JrHoeS” &od. "R 08030 "B 206§ Jodh 006 HYen &) ?

(1)2
(2) 4
(3)5
(4)7
Options :
1 %7
2.%2
3. %3
4.4

Question Number : 24 Question Id : 398282998 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Rahim’s salary was reduced by 10% and then the reduced salary was mereased by 10%. What was
his ultimate loss?

(1) 0%

(2) 1%

(3) 10%

(4) 5%

Gersn 2o 10% Sfosercod BasL S 2650 10% 2BA0H. 96D esodaD R0 D0E?
(1) 0%

(2) 1%

(3) 10%

(4) 5%

options: ):4 GETMYUNI

https://g21.digialm.com/CAE/viewHtm|PDFAction.action 14/72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
1%
2.9¥2
3. %3
4. %4

Question Number : 25 Question Id : 398282999 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The present ages of Sriyaan and Srihaan are in the ratio of 5:4 respectively. After three years the
ratio of their ages will become 11:9 respectively. What is Srihaan’s present age in years?

(1) 24

2y 27

(3) 29

(4) 33

OIS BT FFDO VR DODRVYED SOV 5:4 DHeS* &T) 0. DR DoIINT®)
SO 370 DO DD DD 11:9 esnedrod. '&)063@30"!:_?6 FFD DD S0HRY Jodh?

(1) 24
(2)27
(3) 29
(4) 33
Options :
1.9
2.%2
3.%3
4. %4

Question Number : 26 Question Id : 3982821000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the angle between the hour hand and the minute hand when the time 1s 7:30?
(1) 23 degrees
(2) 43 degrees
(3) 45 degrees
(4) 54 degrees
Pavaie 7:30 mné@:j@ otier .ﬂn% S0001L Dare mm,) Seblnly o doeh?
(1) 23 &hen
(2) 43 &hen
(3) 45 &fen
(4) 54 &fen

options: ):4 GETMYUNI
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1%
2.%2
3.3
4. %4

Question Number : 27 Question Id : 3982821001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

Find out the wrong figure in the series
325, 259,202, 160, 127, 105,94

(1) 202

(2) 94

(3) 127

(4) 259

PBE” 8y Ro§L HBood

325, 259, 202, 160, 127, 105, 94
(1) 202
(2) 94
(3) 127
(4) 259
Options :
1. ¥
2.%2
3.%3
4. % 4

Question Number : 28 Question Id : 3982821002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

}z{ GETMYUNI
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A goods train runs at the speed of 72 kmph and crosses a 250m long platform in 26 seconds.
What 1s the length of the goods train?

(1) 230 meters

(2) 240 meters

(3) 260 meters

(4) 270 meters

&y Ten (ot 72 .20 Do HEDAVA 0D 250 WY FEDMS APSadrcam 26 DEJES’
Dree00d. (IPEy T TFEY) Joes?

(1) 230 aoeadd

(2) 240 Qo>

(3) 260 Doeadd

(4) 270 Do

Options :
1 %7
2.%2
3. %3
4.4

Question Number : 29 Question Id : 3982821003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Identify the missing alphabets
A DL F

C ¥ EBEH

OR ?7?

(1) LK
(2) QT
(3) MN
4) ST

B0 dgarevd Moo

ADECE
& EEBEH
OR??

(1) LK
(2)QT
3)MN
4ST
Options :
L GETMYUNI
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Question Number : 30 Question Id : 3982821004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : O

The sum of ages of 5 children born at the intervals of 3 years each 1s 50 years. What 1s the age of

the youngest child?
(1) 4 years
(2) 5 years
(3) 6 years
(4) 8 years

3 VoDBYOP HFHHES” 200N 5 0B DYV DALY ANG0 50 VodEBTPRD. J°BS’

20605y :Jal D DODAVY Jogd?
(1) 4 PoDSNTeD

(2} 5 moa@huum

(3)6 “faoaej;juum

(4) 8 DodO T

Options :

1. ¥

2.%2

3.%3

4 %4

Current Affairs

SectionId :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

https://g21.digialm.com/CAE/viewHtm|PDFAction.action

39828225
2

Online
Mandatory
30

30

30

Yes

0

:
39828239
Yes

null

X

GETMYUNI
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Question Number : 31 Question Id : 3982821005 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

To which State Government the Supreme Court of India ordered the closing of 68 mines operating
in marble. dolomite and limestone mining to protect wildlife in that area?

(1) Jharkhand
(2) Rajasthan
(3) Karnataka
(4) Maharashtra
D Fo0s’ D DT 020 SroTron, EV BN W) TN
68 (VLN DPRDATT) €5 T VELEPIS WDEH BB3Iodod?
(1) a{.‘*god
(2) g
(3) sgreas
(4) svaxfory
Options :
1 %1
2.92
3.%3
4. %4
Question Number : 32 Question Id : 3982821006 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which Union Ministry released the ‘Endorsements Know-hows!” guide for celebrities and
nfluencers on social media platforms?
(1) Ministry of Consumer Affairs
(2) Ministry of Electronies and Information Technology
(3) Ministry of Home Affairs
(4) Ministry of Corporate Affairs
DL AT S Caoe” HaaeD B8O PEPHIENL 0 ‘dorrb oty S-FRI
9 GERD @ Sod DoBBY T7a) DGO Bod?
(1) DIABFrEtO aéaﬁon@ SDOBEN TD
(2) dogeASy B0 AT 63'5“;}_@3?. V0B ToD
(3) 3o aDFTR OGO T
(4) 52508 O[T QOBS] T°)
Options :

e P4 GETMYUNI
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2. %
3.%2
4. %3
4

Question Number : 33 Question Id : 3982821007 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Who was given the Nobel Peace Prize 2023?
(1) Ales Biahatski

(2) Nadia Murad

(3) Narges Mohammadi

(4) Kailash Satyarthi

2023 5536 7709 a0 D03 0dotod?
(1) e9e7D i)E}o:iPeﬁ%

(2) Sdae a0oed

(3) sﬁﬁi) 0P} 6B

(4) Sora Doyl

Options :

1. %1

2. %2

3.93

4. % 4

Question Number : 34 Question Id : 3982821008 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Which institution has conducted maiden flight trial of Sea-based endo-atmospheric interceptor
missile?

(1) Indian Space Research Organisation

(2) Detence Research and Development Organisation

(3) Hindustan Aeronautics Limited

(4) Bharath Heavy Electricals Limited

QNG SO Joll-TrErasn R6VN6 L3 F DA DALY @ VoY DOLaro)od?
(1) 60 e200305 HOFOT Do
(2) 656 DBHF G DOBOIL 9DIA Do
& [
(3) drocyd DBBSy DOE
(4) 2r6d 1D JO3ESy DIOE
2

Options : bz‘ GETMYUNI
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1%
2.9¥2
3. %3
4. %4

Question Number : 35 Question Id : 3982821009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rashmi Kumari. won National Women’s Carrom Championship for 12 times. How many times.
she won World Championship in Carrom?

(1) 8

2) 5

(3) 3

4 12

ﬁ?.]é £00°0 FAOL QPP SO DD0LOVD 12 FEW Arciiod. STjooes’ esad
D) FE HDo) ToDADONDA FeVNLIEH?
(1) 8

2) 5

(3) 3
4) 12

Options :

1. %1

2. %2

3.3

4 %4

Question Number : 36 Question Id : 3982821010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tushar Shelke and Sangeeta, are associated with which sport?
(1) Archery

(2) Tennis

(3) Cricket

(4) Chess

Board 1), adoin Dofie D Sad Dowodo £BA &7 W?
(1) denacy

(2) 8y

(3) 3365

(4) &SG60tio

Options : b‘v‘ GETMYUNI
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1. Y
2.%2
3. %3
4. %4

Question Number : 37 Question Id : 3982821011 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

National Crime Records Bureau (NCRB) functions under which Union Mimistry?
(1) Ministry of Women and Child Development

(2) Ministry of Health and Family Welfare

(3) Mmistry of Justice

(4) Ministry of Home Affairs

D965 3o 53@3 exrg® (NCRB) 9 Sog ood@esq 7= 306 HB006?
(1) aarw 20001 30 EAR ARl N Y

(2) es8tig0 anBain Senoe) DoZdd SBY T

(3) 503 OB T

(4) SFo HgDDPorO oHB T

Options :

1 %1

2. %2

3.%3

494

Question Number : 38 Question Id : 3982821012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

“Bharat 5G Portal- an integrated portal™, recently. launched by which ministry?
(1) Ministry of Finance

(2) Mimnistry of Communication

(3) Mmistry of Commerce & Industry

(4) Mmistry of Information & Broadeasting

"er68 5G OG- R0BFGE TGS". M ABD0. D o] T JrCoDodod?
(1) e505 SDoHEq T

(2) SQ0FEISHO DOBB] T°D

(3) a“céaa.?go & DOV DoBESB TD

(4) D T0 & PG DOFH T

Options: ):4 GETMYUNI
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2.9¥2
3. %3
4. %4

Question Number : 39 Question Id : 3982821013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

When is the “World Braille Day’ observed every year?
(1) January 1
(2) January 2
(3) January 3
(4) January 4

2 2000 ‘2000 H01D BT H0' N DOEPIND?
(1) 2550 1

(2) 25506 2

(3) 250 3

(4) e2ra3d 4

Options :

1. %7

2.%2

3. %3

4.4

Question Number : 40 Question Id : 3982821014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who 1s the author of book titled “Why Bharat Matters™?
(1) Narendra Modi

(2) 5. Jaishankar

(3) Nirmala Sitharaman

(4) Rajnath Singh

"D oo mngmﬁh" 297 aDE GHoEd Dedd?
(1) $5Bog 2rd

(2) S. Z3056

(3) DO VBTV

(4) oc&rd ~obh

Options :

L # }z{ GETMYUNI
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3. %2
4.%3
4

Question Number : 41 Question Id : 3982821015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which team won the Indian Premier League title 1n 20227
(1) Kolkata Knight Riders

(2) Mumbai Indians

(3) Chennai Super Kings

(4) Gujarat Titans

202265° @ocond wanad B G566 (RVGLD) 40 B?
(1) FSser D5 by
(2) 2008 Q0C.aDAY
(3) BR) A6 3ofiy
(4) LRTD Herdy
Options :
1. %
2.%2
3.%3
4.4

Question Number : 42 Question Id : 3982821016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which technology company partnered with Amazon Web Services (AWS) to launch GenAl-
tocused nnovation lab in India?

(1) Google

(2) Nokia

(3) Samsung

(4) IBM

2r0a83065° GenAl- 69 AT)DAD erfSd Fr00DoBoMDH D DS WORD (AWS)E O
ﬁs'*‘lua@. S0 erfidrqango S90 eod?

(1) Firced

(2) Sdair

(3) Frodoh

(4) IBM N/
}‘{ GETMYUNI
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Options :
1%
2.%2
3. %3
494

Question Number : 43 Question Id : 3982821017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which city hosted the ‘International Convention on Millets™?
(1) Jawpur

(2) Bhubaneswar

(3) Chennai

(4) Hyderabad

WD GRROR  ©0S8TEAOD DGR D &ido Dogarolol?
(1) Zr6

(2) 200336

(3) 3y

(4) rooeerd

Options :
1. %1
2.9¥2
3. %3
4. % 4

Question Number : 44 Question Id : 3982821018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

Which country 1s the first to score over 500 runs on day 1 of a test ericket match?
(1) India

(2) Australia

(3) England

(4) South Africa

B9 356 argoe” 2e Far 5003 P DAXDED S0 VG B30 IH?

(1) erceadzo

(2) 580w

(3) morrol

(4) BLrrpse N/

options - }‘{ GETMYUNI
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Question Number : 45 Question Id : 3982821019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which Railway Station was awarded the *‘Green Railway Station’ certification with the highest
rating of Platinum by the Indian Green Building Council?

(1) Railway Station, Tamil Nadu

(2) Hubballi Railway Station. Karnataka

(3) Kalyan Railway Station, Maharashtra

(4) Vyayawada Railway Station, Andhra Pradesh

Q0C00D H DYohi DS o0 BIAS JFrtddo G O BT DAY’ DGDIND D TS
22D ©Dood?

(1) o RS, BDVTC

(2) roen® 9T AR, STWS

(3) Swmges BT DAD. dvrory

(4) DeoDIE TTG D09, mé@d%

Options :
1. %
2.%2
3.%3
4.4

Question Number : 46 Question Id : 3982821020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

}z{ GETMYUNI
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Which badminton player has clinched the Japan Open 2023 singles men’s title?
(1) Kidambi Srikanth

(2) Viktor Axelsen

(3) Lakshya Sen

{(4) Chen Long

2D LD 2023 Vohesy YO GBS IR0 SOJY gy oedd ACPEPIE Dadd?
(1) 3 0d) 50
(3) 0E] DD
(4) B eroh
Options :
1. %1
2.9¥2
3. %3
4 %4

Question Number : 47 Question Id : 3982821021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

What 1s DCS, that has been launched by the Union Agricultural Ministry?
(1) Dagital Crop Survey

(2) Durable Crop Survey

(3) Doubling Crop Survey

(4) Distributive Crop Survey

500 SO0 aoBBY T F0oDotds DCS 0l DE?
(1) Cats 57 oY

(2) [:.‘Jnsdmfﬁ =) ”@65

(3) cDoh 57 DTY

(4) d%&m&ﬁb SESISTN

Options :
1. ¥
2.%2
3.%3
4. %4

Question Number : 48 Question Id : 3982821022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 v
GETMYUNI
X
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Which Asian country recorded a 27% rise in tiger population since 20157
(1) India

(2) Pakistan

(3) Bhutan

(4) Thailand

2015 S00d D eshair B30 anene aorereS” 27% DIXNDO S Smod?
(1) arcesddzo
(2) 3>
(3) drero
(4) zrowerot
Options :
1. %1
2.%2
3.¥3
4. %4

Question Number : 49 Question Id : 3982821023 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O
The Comptroller and Auditor General (CAG) of India has flagged irregularities in which
scheme of NHATI?
(1) PM KISAN

(2) Bharatmala programme

(3) Sagarmala programme
(4) PM DISHA

20 So’06 QB0 e5de)d @H0S (CAG) 9 NHAI HD6E0e5° easadso a6 dhod?

(1) PM 3o

(2) erosarre s°0§8sn0
(3) Jricare stEjE0
(4) PM &%

Options :
1. %7
2.9¥2
3.%3
4. % 4

Question Number : 50 Question Id : 3982821024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 b‘v‘ G E T M Y U N I
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What 1s the full form of FMR regarding India’s border with Myanmar?
(1) Foundation for Medical Research

(2) Financial management Report

(3) Foreign Military Relations

(4) Free Movement Regime

D6 r0aBds DETELH Dowodod) FMR GIng) 78 drdo dI0e?
(1) Dofnd D6 DAL 5::.%

(2) 200G IE BI°G

(3) 85 BB BTN,

(4) & SPR00E5 Tean

Options :
1. %
2.%2
3. %3
4.4

Question Number : 51 Question Id : 3982821025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Which IIT has recently developed ‘“Work4Food” solution to guarantee minimum wages for food
delivery workers?

(1) IIT Bombay

(2) 1T Madras

(3) IT Kanpur

(4) IIT Delhi

WE 2B 578 0% £ID DT VL T ABy ‘D ADE’ Do) T D 1T a0 DG
B0b?
(1) IIT eroed
(2) IIT a0
(3) OT 5°ry6
(4)OT &

Options :

1. ¥ 7

2.%2

3.%3

4.4

Question Number : 52 Question Id : 3982821026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

N/
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : O
Ganga Sagar Mela, India’s second-largest fair after Kumbh Mela, is celebrated in which State of
India?
(1) Tamuil Nadu
(2) West Bengal
(3) Kerala
(4) Bihar

SR 1o ot F0es” Bota BV EPBE AN (o D6 s erdaidFoes D O
T°3)085” 2D EI0ETE?
(1) ST
(2) DIy BorreSs
(3) So%
(4) DF6
Options :
1. %7
2.9
3. %3
4 %4

Question Number : 53 Question Id : 3982821027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

What target has the Government set to reduce accidental deaths by 20307
(1) 50%
(2) 40 %
(3) 30%
(4) 20 %

2030 ortdS D0PG QOEFO Sfomro pEbago 2 O=f)) AgJodod?

(1) 50 %
(2) 40 %
(3) 30 %
(4) 20 %

Options :

1. ¥

2. %2

3. %3

4. % 4

Question Number : 54 Question Id : 3982821028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
y
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Ayutthaya’ is a maritime exercise conducted by which two countries?
(1) India & United States

(2) India & Thailand

(3) India & Australia

(4) India & Srilanka

'90IVBODL’ DA D Tot BT e O VAGAITDH?
(1) 2roodzo & cIDBE PGy
(2) eroesddzo & mronerod
(3) erosddo & esdair
(4) eroodso & Feos
Options :
1%
2.¥2
3.%3
4. % 4

Question Number : 55 Question Id : 3982821029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Purple Revolution. 1s associated with which one of the following?
(1) Lavender flower cultivation

(2) Sunflower cultivation

(3) Honey cultivation

(4) Cotton production

DANG/ T God DPDO . 308 TS BIF e 0LB0BC0H?
(1) er2ocd e 2oosSo

(2) TSN P Fhd

(3) @D Jro

(4) D3 e

Options :

1. v

2.%2

3. %3

4 %4

Question Number : 56 Question Id : 3982821030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 \/
)‘4 GETMYUNI
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Correct Marks : 1 Wrong Marks : 0
‘India Energy Week’ 1s observed in India, during which month?
(1) January
(2) February
(3) March
(4) April

0E30e5” ‘QOC.OI NG DE' D DO BWYNLIETD?
(1) 2598

(2) De30

(3) m"ﬂa

(4) Dares

Options :

1. ¥

2.9¥2

3.%3

4. %4

Question Number : 57 Question Id : 3982821031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the theme of the ‘“World Radio Day’ 20237
(1) Sustainability in Radio

(2) Radio and Peace

(3) Free Press

(4) Independent Journalism

'Oog) Seabr &'2023 A DIey?
(1) Beoires” Hosgo
(2) BEGIr 0O ToH
()& 2R
(4) Doy a0) dao
Options :
1. %7
2.9

3. %3
4 %4

Question Number : 58 Question Id : 3982821032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 v
}‘{ GETMYUNI

https://g21.digialm.com/CAE/viewHtm|PDFAction.action 32/72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0
‘JTal-Jan Abhivan’ was recently inaugurated in which State ?
(1) Uttar Pradesh
(2) Rajasthan
(3) Maharashtra
(4) Gujarat

‘26-2d DTS o D TrRe &° Jrdedoddod?
(1) &0 nA33

(2) adr®

(3) wdforgy

(4) roaoea

Options :

1 %1

2.92

3.%3

4. % 4

Question Number : 59 Question Id : 3982821033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which institution introduced the *‘Global Greenhouse Gas Monitoring Infrastructure’?
(1) World Bank

(2) WEF

(3) IMF

(4) WMO

Heres AT iR ardedoh -a.%@gsaﬁ'm D D0R VDTDHoA?
(1) D0 ergos

(2) WEF

(3) IMF

(4) WMO

Options :

1. %7

2.%2

3. %3

4. ¥4

Question Number : 60 Question Id : 3982821034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O
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Which recently discovered species has been named after KN Ganeshaiah a famous agricultural

scientist and a Kannada writer?
(1) Butterfly

(2) Gecko

(3) Spider

(4) Turtle
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2 DA

(1) derEEdens
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(4) mreden
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2.9¥2
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4. %4
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Which of the following is NOT a source of law in common law systems?
(1) Statutes

(2) Precedent

(3) Religious texts

(4) Custom

208 ot D6 Jrrce pi{erd ;:-?5.5:1?&)0&5* SO OO0 57
(1) 7=aren

(2) roga

(3) a6y Gomren

(4) es=0o
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3.93
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What 1s the role of an Arbitrator in dispute resolution?

(1) To compromise a dispute between the parties outside the court
(2) To represent one party in the dispute

(3) To adjudicate on the dispute

(4) To enforce court orders

Daes DB, 608Y° DEFHY TG DE?

(1) E@ Ddevdo e 6§ doord)) 78 Sabco
(2) Drcs0es® w8 HEDS FAIG[o Darodo

(3) DTeGop Hdxy SyCEo

(4) B et wae dabco

Options :
1. %
2. %2
3.93
4. %4

Question Number : 63 Question Id : 3982821037 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O v
GETMYUNI
X

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 35/72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

What does the term "voir dire” refer to in legal proceedings?
(1) The presentation of evidence

(2) The examination of victims

(3) The process of selecting a jury

(4) The closing arguments by attorneys

SHRDORD DR’ "aond 26" R Do A AFrIWE?
(1) F&g0 0I0E), DOCHD

(2) erdene HOL

(3) 250D Jows S HIaD

(4) Trjanorce 0N TPGReD

Options :
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Which among the following is deseribed as Lawyer’s Paradise by Sir Ivor Jennings?
(1) Supreme Court of India
(2) Bar Council of India

(3) Constitution of India
(4) Indian Penal Code

208 735" DA 26 pob 8 ofiy 3¢ eroby (OEE T HfocseICod?
(1) &0 08w
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In which landmark case did the Supreme Court of India recognize the principle of Absolute Liabality
m environmental law, stating that enterprises engaged in inherently dangerous activities are strictly
liable for any harm caused to the environment?

(1) M.C. Mchta v. Union of India (Oleum Gas Leak case)

(2) Vishaka v. State of Rajasthan

(3) State of Himachal Pradesh v. Ganesh Wood Products

(4) Charan Lal Sahu v. Union of India

NP2 HATGSORND SPOjSerarees” M) D DoReD DODHOEEIS SHF IFT I3
DDNBOTP EFED DaPFoDD DE) otaT, HDTFDOR 940D VOQPY eFGHR AP D
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(1) M.C. Swdrer v. oo e @odolr (Ldabo g BE 52w)

(2) DT v. RS D TR

(3) RS 3D aPaIreIeS PAT V. (2 DE @agﬁ

(4) D668 ered Frar0 v. ALPEIODO e9D Pod.olr
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Who i1s eligible for alimony under the Hindu Marriage Act?
(1) Only wife

(2) Both Husband and wife

(3) Oanly husband

(4) Husband. wife and children

SFPORT DT 0 Y00 HOEEIS D eagen?
(1) &0y egad
(2) roegsgdoar
(3) &G g
(4) g, &0y OO DLeD
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Based on which case the Sexual Harassment of Women at Workplace (Prevention, Prohibition.
and Redressal) Act, 2013 was enacted?

(1) Shaheen Abdullah v. Union of India

(2) Aruna Ramachandra Shanbaug v. Union of India

(3) Maneka Gandhi v. Union of India

(4) Vishaka v. State of Rajasthan

DA DBB0eS” svarvep Jofit Do (Darde. Do awdaiv DBC0) 60, 2013 2 Sto
e300 ArSTofodeCod?
(1) arard eseer v, COPIODD 5D Qolave
(2) eatiore® TPaLWOE areerh v. Do e Qolair
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(4) D v. P D U‘*ae,gﬁ
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Private International Law is also called as
(1) Cwil Law

(2) Common Law

(3) Conflict of Laws

(4) Regional Law

DOS WoBTHOD HTFDY 09D 1 e
(1) He5 e

(2) sPadm @

(3) S‘ﬁjhg £95) ET°5

(4) 633.::6 e
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Dishonour of a cheque 1s an offence punishable under
(1) Indian Penal Code

(2) Negotiable Instruments Act

(3) Banking Regulations Act

(4) Payment and Settlement Act

BENA BT OIDODE0 300 I=PD Doo.
(1) modaDd D &
(2) RFR0DLDS FOWD0 0I5
(3) BJ“Tsoéoﬁ ﬁmgej‘fqéb D:U‘*g
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The Information Technology Act came into operation on
(1) 9™ June 2000
(2) 8% June 2002
(3) 9 June 2001
(4) 8™ June 2006

e NGRS Eﬁsﬂlma% 380 & eazenesd Dyod.
(1) 9 25 2000
(2) 8 25 2002
(3)9 exre 2001
(4) 8 ered 2006
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In which year did the Supreme Court of India give the verdict on the Ayodhya dispute?
(1) 2015
(2) 2019
(3) 2021
(4) 2024

eICIIG DaTG0p &0y mﬁﬁs.éie:a a"goj:ig“ao 2 WOoDB00e)” By DenDdood?

(1) 2015
(2) 2019
(3) 2021
(4) 2024
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Which statement is correct regarding 42 Amendment of the Indian Constitution?

(a) 427 Amendment gave the directive principles precedence over fundamental rights wherever
there was a conflict. however. the subsequent amendment revoked this provision.

(b) The 42* Amendment act laid down certain fundamental duties, which had to be observed by
all nationals and non-compliance with them was made punishable under the law.

(c) The 42" amendment prevented declaration of emergency on account of internal conflict and
empowered for declaration of emergency only if there 1s an armed rebellion.

(1) a only
(Q)a&b
(3) b only
(4)b & c only

Aela U‘&ﬁ“ﬁuﬁot’i‘ﬁ) 42 2005 Doeodon) 2 DD DTHEG?

(a) 425 DDOE FEE TP S06) BBIE WD FTPIFEID 08, aNd IE) & Darco
BTGT, BEVDO VO0E G ILOGI 06D Do,

(b) 420 DO0ee ©eyo DY FEINE Do HFIoded. DA BHIVVGER Jrddomd B
O FBoSTB Do PSCo ITEDNE.

(¢) 428 DOOE 0SS VoaVGER SO0 IDTIY PEBDED) IFGoDS BT Fraine
SAADErED B0HDNNE QG TN DSBS A0 &ob.

(1) a only
(2)a&b
(3) b only
(4)b & c only
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3. %3
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Headquarters of the World Intellectual Property Organization (WIPO) is located at
(1) Geneva

(2) Rome

(3) Washington

(4) London

DDoD 20E VoD PoR (WIPO) poed stomgoaio 5 &od.
(1) 8da>
(2) Bao
(3) ora0(io
(4) oo
Options :
1. ¥
2.%2
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Which Article of the Indian Constitution deals with the “Right against self-incrimination™?
(1) Article 20 (1)

(2) Article 20 (3)

(3) Article 20 (2)

(4) Article 20

20 TParPforioes’D O e305e “?\‘,50:53 AorEnn” € Hhotododlod ?
(1} Hggfﬁ 20 (1)

(2} Uggfﬁ_ 20 (3)

(3) e56565 20 (2)

(4) 5856 20

Options :
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Any act due to directly or exclusively without human intervention and it is nature’s destruction.
the act is called as

(1) Intentional harm

(2) Vis major

(3) Inevitable Accident

(4) Accident

D070 PO Fom PAFLOT T DIorr @O BT BOJ OAIL 9O DEB DELORO0. €3
DO es0erdd.

(1) 0BHJES 06}

(2) DD b

(3) ARDEVS e35yZotd
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Options :
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“Right to life under Article 217 of the Indian Constitution does not include “Right to die”. This
observation was made by the Supreme Court in which case  ?

(1) P.Rathinam v. Union of India

(2) NALSA v. Union of India

(3) Gian Kaur v. State of Punjab

(4) Aruna Shanbaug v. Union of India

08 ToaforioeS" D “e9BsS 21 P00 2DoB )" “SAF'AD LY S. & DBYOD
Zogio 876 O FneS® 30d?

(1) . 08) 0 V. CRFIOWN €3 QOO

(2) NALSA v. 010000 €3 ool

(3) D 56 v. RS D Doz

(4) eacdEr arDerEH v. CPIODD €3 Qodoir

Options :

1 %1

2. %2

3.¥3
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Which of the following International Treaties 1s considered the cornerstone of Modern Human
Rights Law?

(1) Universal Declaration of Human Rights

(2) International Covenant on Civil and Political Rights

(3) International Covenant on Economic. Social and Cultural Rights

(4) Geneva Convention

308 oBTHAD 2Dy0TVe” DB BIEAE JPRD LY O S0 CINE) AP0
DBEIDRIEIB0H?

(1) S L0 FOLHS DELD

(2) 6 0B TrRdaD LY OP oBTHoD wEods

(3) 985, FATRE 0BAID Fo) B L) VP 0BT HOD WEIES

(4) B esdyocco
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Sarojini Naidu was the first woman Governor of State in Independent India.
(1) Madhya Pradesh

(2) Uttar Pradesh

(3) Bihar

(4) Maharashtra

B TN DB BreBBE0e” ng:.’aé D0 VPV (190) 6.
(1) 65003

(2) &30 DET

(3) DiF6

(4) oy

Options :
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Which doectrine states that a person cannot be tried for the same offence twice?
(1) Double jeopardy

(2) Due process

(3) Ex post facto

(4) Habeas corpus

208 933 2.8 DTS ToOFD DTBOIEREED D NErode SenFod?
(1) cend acir a8
(2) @y R
() 28, g I8
(4) TDADR 570D
Options :
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Which famous English case 15 also known as “the snail in the bottle case™?
(1) Ashby vs. White

(2) Rylands vs. Fletchers

(3) Donoghue v. Stevenson

(4) Nichols vs. Marsland

D DG eoff FA " I &S° D " 9D P HeLF®?
(1) G:ij"ina v. 26
(2) Berroly v. D36y
(3) ES0r v. DIy
(4) o &5y v. arbyergol
Options :

1. %7

2. %2 \, /
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Correct Marks : 1 Wrong Marks : 0

In Contract Law. what is the term for an agreement between two parties where both parties make
promises to do something?

(1) Unilateral contract

(2) Void contract

(3) Bilateral contract

(4) Executed contract

SP0L§ ©90)0e5". Boc arfen E 2,560 BP0 TTELL B3R Tt PO A wDN0EEAS Do
Dawed?

(1) CPIETEHCS SPotrdd

(2) arons sPotrd

(3) BereIoes stotrsy

~ B
(4) 205758 SPotrd

Options :
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2. %2
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M. C. Mehta v. State of Tamilnadu case relates to
(1) Violation of rights under Juvenile Justice Law
(2) Exploitation of children above 14 years

(3) Violation of the Right to Education

(4) Violation of Fundamental Rights of children under Article 24 of the Indian Constitution
M.C.aoarer v. 28 &0 SD¥T S 3 VoeroQou)d.

(1) ey T°5ol Sto S0l PE) © &LV

(2) 14 2%0 podd Dowp Sdd

(3) DEPfarsy), LoD

(4) e Trergorioes™D 38585 24 H5°Co ereow FEIE TP © G0V
Options :

LE }z{ GETMYUNI

https://g21.digialm.com/CAE/viewHtm|PDFAction.action 46]72



6/3/24,11:11 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
2. %
3.%2
4.¥'3
4

Question Number : 83 Question Id : 3982821057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

What 1s the term for a legal document that gives someone else the authority to act on your behalf
mn legal matters?

(1) Sub poena

(2) Power of attorney

(3) Affidavit

(4) Summons

SEDODMD DRI’ 2 0 DfDrBosIS 0FE63 90500 SBGIMD DBo CINE), DGO
DDE?
(1) DT
(2) D6 e3D @EJ"&;L
(3) e9DEDE
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Options :
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Select the correct statements regarding Fair trial:

(a) Hear the other side

(b) Judge must be 1mpartial

(¢) Presumption of innocence before and after the trial
(d) Delayed justice is denied justice

(1) a;b;
(2) c.b.
(3) a.e¢,
(4) a.b.

[ = TR =T =

.d

Do0S @ADL Do0Bod) VPR VBN JochE ol |
(a) 0TS P Ddod

(b) TPgaaNrg Doy st eord

(c) DTG Ao BN BT AT erdodo
(d) es0REEOS Frgaie ATPEB0eCR) F°JoirdS DAT*d0

(1) 5 b;d
{2) ¢,b.d
(3) a, e d
(4) a.b.c,d

]

Options :
1. ¥
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In which case the Highest Court of the country imposed Rs. 25 lakhs on a litigant for initiating
criminal proceedings in a civil dispute in 20247

(1) Dinesh Gupta v. State of Uttar Pradesh and Others

(2) Vishal Tiwari v. Union of India and others

(3) Nabendu Kumar Bandyopadhyay v. Additional Chief Secretary and Others

(4) Sarfaraz Alam v. Union of India and Others

2024 &5° D F2085° 3% a0 & ToDIVo DS Dorcoes® 3MHES Tl FrooDodHo%
LSS0 P dr.25 e adaro dbdodlob?

(1) BIQ D v. P 3D &b PAT B QB

(2) Dered S v. CIPDOLA e3e Qodairr andoiy Qe

(3) TS0 A6 LoBrorion v. GHY) PO STO§EB;) B0 FBen

(4) :i:ici;)c“é e300 V. CAPI0R 890 QOC.OIT® 9ok QDD )v
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Bilkis Yakub Rasool v. Union of India and others was decided by :
(1) Justice DY Chandrachud and Justice B V Nagarathna

(2) Justice Sanjiv Khanna and Justice Ujjal Bhuyan

(3) Justice Ujjal Bhuyan and Justice B V Nagarathna

(4) Justice DY Chandrachud and Justice Sanjiv Khanna

e‘JE}bﬁn QITrE08) GRPe V. 0IPJ0IM 90 ROEOIT® s8I PR T o
Qgonodnc.od.
(1) 220 & D DoGars 2doin 20 O D T 0B
(2) 220 Do DT DI BYD &S HOD
(3) 200 &g Pairo b B0 D D 08y
(4) 220 & D SoGaré BaIL &Y VoD DT
Options :
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The National Human Rights Commission (NHRC) of India 1s constituted under which Act?
(1) National Human Rights Commission Act, 1993

(2) Protection of Human Rights Act. 1993

(3) Civil Rights Protection Act, 1993

(4) Constitution of India

GO FAaD Qrdd TPE) o SI0ND (NHRC) 2 oto 306 do7yen Sonexc.od?
(1) 2ol 0P TPE)® S00R Biyo. 1993

(2) o Py 0 O o, 1993

(3) 0 L@ C&es o, 1993

(4) &0 Trerjorio

Options :

1. %1

2.9¥2

3.%3

4. %4

Question Number : 88 Question Id : 3982821062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the mam statute in India governing direct taxation?
(1) Goods and Services Tax (GST) Act

(2) Income Tax Act

(3) Central Excise Act

(4) Customs Act

2 Oa33065° DBLE DAY O DoDOGS DI FTRD0 IA?
(1) ey ok BN ersy (GST) air§

(2) @S0 sy ourg

(3) Dot)e5 IZyE g

(4) 80y oIS

Options :

1. %7

2.9

3.%3

4, %4
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Which international agreement aims to combat climate change by limiting global warming to well
below 2 degrees Celsius above pre-industrial levels?

(1) Kyoto Protocol

(2) Paris Agreement

(3) Montreal Protocol

(4) Basel Convention

fFeae5 a6 06m) JrBF°a0S QPO gum &oé3 2 & fiv DB ol SEH ST DBDS0 Sobcio
T°(0° PEPI0E TGN Qm&ﬁbambé -:‘—.g%’orfjaﬁ wo@gﬂém 2sdyoco 28?
(1) 855° Tes's&

(2) 0D eafinotd

(3) aorotioied oreiseed

(4) RS 5D

Options :

1. ¥

2.9¥2

3.%3

4 %4

Question Number : 90 Question Id : 3982821064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Detfense by an accused person of having been elsewhere at the time an alleged offense was
committed 1s called as

(1) Confession

(2) Plea-bargain

(3) Alibi

(4) Compounding

S0 Do BBANYD TDoDES o5 magbﬁf ET) D B3 62 ocf
DAY eaobEd.

(1) way&en

(2) gg—aa“goﬂ.f’.)oﬁ

(3) 28D

(4) 2oy ¥

Options :
1. %
2.%2
3.¥3
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Question Number : 91 Question Id : 3982821065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

Which type of tort involves causing harm to someone's reputation through spoken words?
(1) Trespass

(2) Nuisance

(3) Slander
(4) Negligence

QUPEPE PR TPDE 258 DEHL 8D SBR0DCEo D 0SD oD SO Eotnod?
(1) Shyd
(2) ARy
(3) 26
(4) AHBAOy
Options :
1 %1
2.%2
3.9Y3
4. % 4

Question Number : 92 Question Id : 3982821066 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

Which landmark case dealt with the 1ssue of “marriage after conversion" and declared it illegal
under Personal Law?

(1) Sarla Mudgal v. Union of India

(2) Shayara Bano v. Union of India

(3) Shah Bano v. Mohd. Ahmed Khan

(4) Shamim Ara v. State of U.P.

200 ArByE SUPGE DIPro” €90 90300 &) DUeL TPO SRR 20, B0a@ OO SIS
80 PTG DD SEIDWDGTT pEdoard?
(5] (=] [+
(1) DOY™ S0¢S v. 0IPA0DA 3D QoLalr®
(2) Howroe e v. alrdoe 3 Qodair
(3) ar e v. 20ard e ard
(4) Daoan eooe v. S D ULP.

Options :
1. ¥

2. %2 N/
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Question Number : 93 Question Id : 3982821067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Intellectual Property law protects an invention by grant of
(1) Copyright

(2) Geographical Indication

(3) Trademark

(4) Patent

8 VoD Do 02r M) TPO° eID), 06 6208,
(1) 5208
(2) 20irTrase Qo300
(3) 8eL0),
(4) HEIot5
Options :
1 %1
2.%2
3.%3
4.4

Question Number : 94 Question Id : 3982821068 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

The legal term “caveat emptor™ means
(1) Let the seller beware

(2) Let the buyer beware

(3) Let the landlord beware

(4) Let the tenant beware

DDOZDN DGo “BDADE o6 eots
(1) D360 OO &oEID00

(2) Foffenord &g eotdagel
(3) &g BFOGT G0 DG

(4) SO0 ST ot AD(oc

Options :
1. %1
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Question Number : 95 Question Id : 3982821069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Maintenance of wife. children and old parents 1s given under section of CrPC.
(1) Section 125
(2) Section 124
(3) Section 126
(4) Section 123

2P0, D Sudoi 9,8 39Go®w A6Gre Cr.P.C. aog) VLD 300 QI BICod.
(1) p&E 125
(2) P& 124
(3) D&~ 126
(4)DsE0 123
Options :
1. v
2.%2
3.%3
4 %4

Question Number : 96 Question Id : 3982821070 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

India’s first e-waste management clinic 1s set up 1n
(1) Bhopal

(2) Hyderabad

(3) Vizag

(4) Panajn

DPOBG ) DVRAVGE R-DY DB 35 e5° Doeyen dadedod.
(1) &are5

(2) arosoeerd

(3) parh

(4) Do

Options :
1. ¥

2.%2 N/
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Question Number : 97 Question Id : 3982821071 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

A company “Z”. agrees to pay all the employees Rs:10.000/- salary per month. The employer
failed to pay the salary because they wanted to go for lay off. Both the employer and employee
want to settle the matter amicably by appointing a person and place of their choice. This process
15 known as

(1) Mediation

(2) Arbitration

(3) Negotiation

(4) Litigation

"Z" S0, &S00S DO dr: 10.000/- Edo BV ©0HiEbood . o & DD
DTN 061N DR 20 3Yodioss” DDONALRID. aDRAFD oI &E§H PP
DL AN OFS aBaiL PEEDY DODAVODED TPYD® DAV 5‘@{5‘&)50{?
;Ja:%aomg“avomgmmmam. & Hiaho £90ET7C0).

(1) oEACHID

(2) e8y800

(3) DdFRCHHD

(4) DBELD

Options :
1. Y1
2. %2
3.%3
4 %4

Question Number : 98 Question Id : 3982821072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0
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A previous judgment cited by the court to decide on a similar set of facts 1s calledas
(1) Precedent

(2) Ratio decidendi

(3) Obiter dicta

(4) Judicial dicta

23 DO T*YTON APoDTIS F' E0rB0N D SN eotrd.
(1) DEoS

(2) Badir Zdh@od

(3) 2dexd nig*

(4) ejeaa0e ag

Options :
1. ¥
2.%2
3. %3
4. % 4

Question Number : 99 Question Id : 3982821073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

1s known as the Fifth wheel of the Indian Constitution.

(1) Cabmet ministry

(2) Judiciary

(3) Finance commission
(4) Nit1 Aayog

D &G0 TErjorios’) DO HE0 0erm.
(1) SRS odesg T
(2) SPjOtDOFO
(3) Ry SDD
(4) D& esairh

Options :
1. %
2.%2
3. %3
4.4

Question Number : 100 Question Id : 3982821074 Question Type : MCQ Option Shuffling : No Display Question
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“An eye for an eye and a tooth for a tooth™ relates to theory.
(1) Reformative

(2) Deterrent

(3) Retributive

(4) Preventive

"Sotds Qr‘ﬁol anBain Dotdd E}é&)‘l B ?ocgﬁ“c:@“.f'.)é 2023006,
(1) :’oo?abdsa

(2) D8 G%0

(3) 2e¥s0

(4) Dardes

Options :
1. %
2. %2
3.¥3
4. % 4

Question Number : 101 Question Id : 3982821075 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

Who propounded the legal theory called *“Utilitarian Individualism™?

(1) Austin
(2) Salmond
(3) Taylor
(4) Bentham

"a10BDEBBADS RoLDODB0" D THOH DT D) DD YA BT H?
(1) &3

(2) ool

(3) Ber6

(4) Bota

Options :
1. %1
2. %2
3. %3
4.4

Question Number : 102 Question Id : 3982821076 Question Type : MCQ Option Shuffling : No Display Question
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Citizenship Amendment Act, 2019 (CAA) intends to protect
(1) Six Minority Communities from Two countries

(2) Six Minority Communities from Three countries

(3) Five Minority Communities from Two countries

(4) Five Mmority Communities from Three countries

G268 DT B3&o, 2019 (CAA) D 62008 &8I03eod.
(1) Boco 70 ol 3t e Sanridten
(2) aare G Hod e B Sanridelen
(3) Toco 70 ol D L SauridLhen
(4) Qe 7o dood DO QOB Sauridten
Options :
1%
2.92
3.%3
4. %4

Question Number : 103 Question Id : 3982821077 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

When two or more persons fighting in a public place disturb the public peace. they are said to
commit

(1) Assault

(2) Affray

(3) Libel

(4) Conspiracy

QM For 0B850 IED 0d Dy Lercon PBT0ES” FTCEHAD) WD D FToDS
Zorio SDAY. T 3 JrRNGOLD Beneed.
(2) o
(3) DS
(4) -sv:}hbuﬂa
Options :
1 %7
2.92
3.%3
4. %4
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Question Number : 104 Question Id : 3982821078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

The States of Chattisgarh and Jharkhand were formed by the Constitutional Amendment.
(1) 94

(2) 98t

(3) 96%

(4) 100%

_ Orergofi Qa0 or(0° ISR0E andain ergod U“Sﬁrnm DO Tmo.
(1) 94
(2) og™
(3) 96
(4) 100%
Options :
1. ¥
2.%2
3.%3
4. %4

Question Number : 105 Question Id : 3982821079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : O

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a feature of the Indian Constitution?
(1) Presidential form of Government

(2) Single citizenship

(3) Independent Judiciary

(4) Universal Adult Franchise

208 TeteS” o6 orarjorio GI0E), LEL0 SO N TA Y
(1) RIS Qe_:he:‘95 aro

(2) 23 oo

(3) RgBoG TFoOFOD

(4) FoBs DO ProPe

Options :
1. v
2.%2
3.%3
4. % 4

Question Number : 106 Question Id : 3982821080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : O
was nominated as member of Rajya Sabha by the President m 2024.
(1) P.T. Usha
(2) Hema Malini
(3) Sudha Murty
(4) Jaya Bachchan

2024e5° U"‘g&)@ oeoe Uuae.ﬁ“roe;i “rae:iJ?SU“wr? PSRN ) :jojjag“d}.
(1) 2.8, &9
(2) s 28D
(3) P0o° aord
(4) 200 BXxXIND
Options :
1. %
2.%2
3.¥3
4. % 4

Question Number : 107 Question Id : 3982821081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Public Interest Disclosure and Protection of Informer Resolution of the Government of India.
designates Central Vigilance Commission as the designated agency for obtaining complaints
and giving protection to of a company.

(1) Whistleblower

(2) Executive Director

(3) Independent Director

(4) Promoter

P00 POg0 L), D5 RBY AXERE daL ADFES Bauriad 0L, VoS
DRGDy SDOON DTN Todo) B o3 Dod 4
0£69 S oIS Dabdedod.

(1) DezeseS" a6

(2) 205D Z056

(3) %08 Z056

(4) Harerd
Options :

1. ¥ 7
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Question Number : 108 Question Id : 3982821082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

The method of impeachment of the President of India has been adopted from the Constitution of

(1) United States of America
(2) United Kingdom

(3) Ireland

(4) France

2PO0 TN ©DI0ND DG oeamjorio a0l EB0RIG0B.
(1) cDBE Sy e 9005
EX
(2) cOLPAE SohcaD
(3) g0k
(4) oy
Options :
1. Y1
2. %2
3.%3
4. % 4
Question Number : 109 Question Id : 3982821083 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Chairman, Railway Board v. Chandrimadas case relates to
(1) Compensation to women

(2) Compensation to children

(3) Compensation to rape victim

(4) Compensation for custodial deaths

DOLA. DTG e5°0 v. 90QATTEd 520 3 Doeohodd.
(1) ?geg) DBPGo

(2) dooH DEFGo

(3) cldtape erSenTdd HdHdo

(4) 8¢ OEFOL HBCo

Options :
1. %1
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Question Number : 110 Question Id : 3982821084 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : O

Which of the following statement is true regarding the Doctrine of Pith and Substance:

(1) It protects the rights of the people by ensuring that laws are enacted within the constitutional
limits of the Government

(2) It encroaches on the powers of the State Government by the Central Government

(3) It helps to resolve disputes between the Central Government and the State Government over
the distribution of legislative powers

(4) It promotes cooperation and coordnation between the Central Government and the State
Government

(1) 1, 3 & 4only
(2) 1.2 only

(3) 1.24 only
(4) 1,2, & 3only

DS 000D DYDY VL), DroEEAS Woeodoed) 08 PELDLS” DA Dzo:

(1) Doy Uuaa"?g?:-ﬁ DODEVSD EFen APToBODRDBIT) 0D ATBoSE0 TPU° YR
P 0 DOOLRV0E

(2) @b Sod B0l U7 DB BHSTOA) AL

(3) 770 eafisrore mobeﬁé Sog PELEo DAL T PELBL0 SDE] DT TP
2008:),000z)5 DFaDLDEBIH -

(4) S0 [STab LN P bl lovhy] D“fﬁ RELDL0 D] PIPSTO0 A1 VaLAJAIDY @@ﬁ}*@;o&

(1) 1.3 & 4 only
(2) 1.2 only

(3) 1.2.4 only
(4) 1,2, & 3 only

Options :

1. v

2.%2

3.%3

4. %4

Sub-Section Number : 2
Sub-Section Id : 39828241

Question Shuffling Allowed : No
Is Section Default? : null
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Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (111 to 115)

Read the following passage and answer the questions from 111-115 as given below:

The word ‘tort’ is a French word equivalent of English word ‘wrong’. The word tort 1s derived from
Latin word Tortum. Thus. simply stated ‘tort’ means wrong. But every wrong or wrongful act is not
a tort. Tort 15 really a kind of civil wrong as opposed to criminal wrong. "Tort" means a civil wrong
which 1s not exclusively the breach of a contract or the breach of trust. The distinction between civil
and criminal wrongs depends on the nature of the appropriate remedy provided by law. In general.
a tort consists of some act or omission by the defendant (tortfeasor) whereby he has without just
cause or excuse caused some harm to plaintiff. Thus. every person whose legal rights, e.g.. right of
reputation. right of bodily safety and freedom. and right to property are violated without legal
excuse, has a right of action against the person who violated them. whether loss results from such
violation or not. It 1s not every damage that 1s a damage in the eye of law. It must be a damage
which the law recognizes as such. In some torts, the defendant is liable even though the harm to the
plaintiff occurred without intention or negligence on the part of defendant. In other words. the
defendant 1s held liable without fault. It 1s called strict or Absolute liability. An employer 1s hiable
whenever his servant or agent commits a tort in the course of his employment. An act 1s deemed to
be done in the course of employment if it 15 either: (1) a wrongful act authorized by the employer.
or (11) a wrongtul and unauthorized mode of doing some act authorized by the employer. The act 15
called as vicarious liability.

=ToTA) m.ﬁ)ﬂl S0l «ubain 111-115 Sood Q%’J_DSJ 206 maﬁse::dx) DT WIaT T eI0 maﬁod:
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Question Number : 111 Question Id : 3982821086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : O

What are the instances. where the defendant 1s liable for not committing any wrong?
(1) Strict liability

(2) Vicarious liability

(3) Liability of State

(4) Tort of Negligence

DEND0E) By BONLOETD PATO EPGHE DaT0td WOGTHEN DDE?
(1) %ﬂ)é eraBed
(2) PEBaDLH eaDDBE
(3) RS LaDDBS
(4) OBy
Options :
1. Y1
2. %2
3.%3
4. % 4
Question Number : 112 Question Id : 3982821087 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following is a correct statement regarding vicarious liability?

(1) Master 1s liable for the acts committed by his servant within the course of employment

(2) Master is liable for the acts committed by his agent outside the course of employment doing
authorised act

(3) Master 1s liable for the acts committed by his agent within the course of employment doing
unauthorised act

(4) Master 15 not at all held liable for the act of his servant
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Which of the following statement 1s TRUE?

(1 Actual Loss 1s essential to not award damages in Tort.
(2) Actual Loss is essential to award damages in Tort.

(3) Legal damage is not essential to award damages in Tort.
(4) Legal damage 1s essential to award damages 1 Tort.
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Tort 1s not a

(1) Breach of Contract
(2) Breach of Trust
(3) Criminal Wrong
(4) Civil Wrong
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Which of the following are legal rights according to the passage?
(1) Right to freedom

(2) Right to person’s bodily safety

(3) Raght to damage

(4) Right of reputation
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Read the following passage and answer the questions from 116-120 as given below:

A contract is an agreement enforceable at law., made between two or more persons. by which rights
are acquired by one or more to acts or forbearances on the part of the other or others. A contract 1s
an agreement creating and defining obligations between the parties. The Indian Contract Act, 1872
lays down general principles relating to formation and enforceability of contracts: rules governing
the provisions of an agreement and otfer: the various types of contracts including those of indemnity
and guarantee, bailment and pledge and agency. It also contains provisions pertaining to breach of
a contract. The Indian Contract Act has defined “Contract” in Section 2(h) as “an agreement
enforceable by law”. This definition indicates that a contract essentially consists of two distinet
parts. First, there must be an agreement. Secondly. such an agreement must be enforceable by law.
An agreement gives birth to a contract. As per Section 2(¢) of the Indian Contract Act. every promise
and every set of promises. forming the consideration for each other. 1s an agreement. Agreements
relating to social matters in which the idea of bargain is absent and there is no intention to create
legal relations are not contracts. To form a valid contract there must be: an agreement based on the
genuine consent of the parties. supported by a lawful consideration made for a lawtul object. and
between the competent parties. One of the early steps m the formation of a contract lies in arriving
at an agreement between the contracting parties by means of an offer and acceptance. When one
party (the offeror) makes a definite proposal to another party (the offeree) and the offeree accepts it
m its entirety and without any qualification, there 1s a meeting of the minds of the parties and a
contract comes into being, assuming that all other elements are also present.
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Correct Marks : 1 Wrong Marks : O
Agreements relating to social matters are
(1) Valid contract
(2) Partially valid contract
(3) Voidable contract
(4) Not a valid contract
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What are the various types of contracts in the Indian Contract Act?
(1) Bailment and Guarantee

(2) Bailment and Mortgage

(3) Bailment and Lease

(4) Bailment. Guarantee. Sale
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Every promise and every set of promises. forming the consideration for each otheris .
(1) Agreement

(2) Contract

(3) Bailment

(4) Guarantee
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An agreement between two persons to go together to the cinema. 1s
(1) Partial Contract

(2) Enforced under law

(3) A valid Contract

(4) Not enforceable under law
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What are the essentials of a valid contract?

(1) Offer. Acceptance, Consideration, Forced Consent and Incompetency of Parties
(2) Offer. Acceptance. Social Obligation. Forced Consent and Competency of Parties
(3) Offer. Acceptance. Social Obligation, Free Consent and Incompetency of Parties
(4) Offer. Acceptance, Consideration, free Consent and competency of Parties
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